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L ead2pass 352-001 Exam Questions Free Download: https://www.lead2pass.com/352-001.html QUESTION 411Which two
platforms provide hypervisor virtualization? (Choosetwo.) A. DevStackB. DockerC. KVMD. OpenStackE. XenAnswer:
CE QUESTION 412 352-001 Dumps,352-001 Exam Questions,352-001 New Questions,352-001 V CE,352-001 PDFA company
will integrate an |Pv6 application into their network and wants to develop atest environment to evaluate application performance
across the network. This application consists of both unicast and multicast traffic. The company wants to do thistesting only in
certain locations of its existing |Pv4-only network, and all chosen locations should communicate with each other. Which tunneling
technology worksin thisscenario? A. ISATAPB. 6PEC. DMVPND. 6to4 Answer: C QUESTION 413 352-001
Dumps,352-001 Exam Questions,352-001 New Questions,352-001 V CE,352-001 PDFWhich option forces traffic to take an explicit
route across a backbone network? A.  IGPcostB. TE metricC. TE affinityD. multiple IGPs Answer: B QUESTION 414
352-001 Dumps,352-001 Exam Questions,352-001 New Questions,352-001 V CE,352-001 PDFA mobile network operator is
designing an NGN backhaul and plans to migrate their legacy SDH and SONET-based transport network to a packet-based transport
network. The NGN network must achieve similar failover and failback times as the legacy network (50 milliseconds). Which
method does allow for similar failover and failback times on the new packet-based network? A. BFDB. E-OAMC. UDLCD.
BPDU Answer: B QUESTION 415 352-001 Dumps,352-001 Exam Questions,352-001 New Questions,352-001 V CE,352-001
PDFWhich statement describes the main difference between the Layer 2 loop-free inverted U design and the Layer 2 loop-free U
design? A. A loop-free U design has all uplinks active, but aloop-free inverted U design doesnot.B. A loop-free inverted U
design has al uplinks active, but aloop-free U design doesnot.C. A loop-free U design extends VL ANSs between access switches,
but aloop-free inverted U design doesnot.D. A loop-free U design extends VLANSs between distribution switches, but aloop-free
inverted U design does not. Answer: C QUESTION 416 352-001 Dumps,352-001 Exam Questions,352-001 New Questions,352-001
V CE,352-001 PDFAN enterprise company needs to transport multicast traffic between its hub-and-spoke WAN routers over an
MPLS Layer 3 VPN provider that does not currently support multicast. Which option describes how this enterprise how this
enterprise can achieve this requirement in a cost-effective way? A.  Use MSDP over the WAN.B. Enable multicast routing on the
WAN physical and tunnel interfaces.C. Create multicast-enabled GRE tunnels over the WAN between the hub-and-spoke
routers.D. Provide an Internet link to each site and use DMV PN over the Internet. Answer: C QUESTION 417 352-001
Dumps,352-001 Exam Questions,352-001 New Questions,352-001 V CE,352-001 PDFIn a Cisco ACI environment, which option
best describes "contracts’? A.  aset of interaction rules between endpoint groupsB. alLayer 3 forwarding domainC. to
determine endpoint group membership statusD. named groups of related endpoints Answer: A QUESTION 418 352-001
Dumps,352-001 Exam Questions,352-001 New Questions,352-001 V CE,352-001 PDFY ou are devel oping the routing design for
two merging companies that have overlapping IP address space. What must you consider when devel oping the routing and NAT
design? A. Global to local NAT tranglation is done before routing.B.  Local to global NAT translation is done after routing.C.
Global to local NAT tranglation is done after policy-based routing.D. Local to global NAT translation is done before policy-based
routing. Answer: D QUESTION 419 352-001 Dumps,352-001 Exam Questions,352-001 New Questions,352-001 V CE,352-001
PDFWhich option should be part of your network design to support dynamic mutual redistribution between multiple OSPFv2 and
IS-1S boundaries, to avoid suboptimal routing? A.  route tagging and administrative policiesB.  route filtering and administrative
policiesC. route aggregation and administrative policiesD. disabling SIS wide metrics Answer: B QUESTION 420 352-001
Dumps,352-001 Exam Questions,352-001 New Questions,352-001 V CE,352-001 PDFAfter alarge EIGRP network had automatic
summarization enabled throughout, it started experiencing routing loops. Which action should you take to quickly resolve the
routing loops yet continue to perform summarization? A.  Replace the automatic summarization with more specific summary
routes.B. Redesign the IP addressing scheme.C.  Redistribute connected routes at major 1P network boundaries.D. Increase the
AD of the automatically summarized routes. Answer: A 352-001 dumpsfull version (PDF& VCE):
https://www.lead2pass.com/352-001.html L ar ge amount of free 352-001 exam questions on Google Drive:
https://drive.google.com/open?id=0B3Syig5i8gpDalUphMOIMOWRjUUO Y ou may also need: 200-310 exam dumps:
https://drive.google.com/open?id=0B3Syig5i8gpDUE9zeHd2Y UFFNUE 300-101 exam dumps:
https://drive.google.com/open?id=0B3Syig5i8gpDbHBIVVk1ZVhpOGc 300-115 exam dumps:
https://drive.google.com/open?id=0B3Syig5i8gpDM OpgaFIWUXVuM2M 300-320 exam dumps.
https://drive.google.com/open?id=0B3Syig5i8gpDUGIzdWdZNHUwZ28
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